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AIU Exam – Fundamentals of Math


Title of Course: Fundamentals of Math 
Couse Credits: 3 credits

Questions to Answer:
Find the Opposite of the signed numbers. (Questions 1 to 4)
1. -39
Answer: The opposite of -39 is 39 or +39


2. 57
Answer: The opposite of 57 is -57

3. -0.91
Answer: The opposite of -0.91 is 0.91 or +0.91

4. -0.134

Answer: The opposite of -0.134 is 0.134 or +0.134





What is the absolute value of the signed number? (Questions 5 to 8)
5. |-16.5|

Answer: The absolute value of |-16.5| is 16.5
               Note that all absolute values are positive.


6. |-386|

Answer: The absolute value of |-386| is 386
               Note that all absolute values are positive.

7. |71|

Answer: The absolute value of |71| is 71
               
8. |3.03|

Answer: The absolute value of |3.03| is 3.03

9. What is the opposite of |-6.4|?

Answer: The opposite of |-6.4| is 6.4 or +6.4



10. If 93 miles north is represented by +93 miles, how would you represent 93 miles south?

Answer: 
           If 93 miles north = +93
           Then, 93 miles south= |-93| 



Add the following numbers. (Questions 11 to 18)

11.  -75 + (-23)

      Solution: 

                 -75 + (-23)
              = -75-23 
              = -98


12.  -75 + 23

      Solution:

               -75 + 23
            = (-75) + (+23)
            = -52
 
       
   
13.  75 + (-23)

      Solution:

            75+ (-23)
            =75-23
            =52
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14.  65 + (-45) + (-82)

  Solution:
           
            65 + (-45) + (-82)
          =65-45-82
          =65-127
           =-62

15.  -7.8 + (-5.3) + 9.9

     Solution:
           
            -7.8 + (-5.3) + (9.9)
          = -7.8 - 5.3 + 9.9
          = -13.1 + 9.9
           = -3.2


16.  -24 + 65 + (-17) + 31

        Solution:
           
            -24 + 65 + (-17) + 31
          = -24 + 65 -17 + 31
          = -24-17 +65 + 31
           = -41 + 96
           = 55


17.  65 + (-4.3) + 7.12 + 3.45

          Solution:
           
                65 + (-4.3) + 7.12 + 3.45
             = 65 - 4.3 + 7.12 + 3.45
             = 65 + 7.12 + 3.45 – 4.3
             = 75.57 – 4.3
             = 71.27






18. 

          Solution:
           
 

             =  
             =   
     
           Lowest common multiple = 60
          
            =   

            =-
            
            = -

19. A business made the following profits in consecutive months: January +100,       February -75, March +50, April -60, May +25, June -30. Did the business have positive or negative profits over those months?
    
Solution:

Profits:    100 + (-75) + 50 + (-60) + 25 + (-30)
              =100-75+50-60+25-30
              =100+50+25-75-60-30 (collect like terms)
              = 175-165
              =10
The business has a positive profit of 10 over the months.







20. Intel stock has the following changes in one week: up 0.78, down 1.34, down 2.78, up 3.12, and down 0.15. What is the net change for the week?

Solution: 

          Stock changes: +0.78 + (-1.34) + (-2.78) +3.12 + (-0.15)

                          =0.78-1.34-2.78 +3.12 -0.15
                          =0.78+3.12-1.34-2.78-0.15
                          =3.9-4.27
                          = -0.37
           The net change for the week is down 0.37



Subtract the following numbers. (Questions 21 to 26)
21.  19 - (-3)

Solution:  
           19 – (-3)
          = 19 +3 
          = 22


22.  -45 – 81

Solution:  
           -45 – 81
          = - (45+81) 
          = - 126






23.  16 – (-75)

Solution:  
           16 – (-75)
          = 16 +75 
          = 91


24.  -134 – (-134)

Solution:  
           -134 – (-134)
          = -134 + 134
          = 0

25.  -4.56 – 3.25

Solution:  
             -4.56 – 3.25
          = - (4.56 + 3.25)
          = - 7.81


26. -4.56 – (-3.25)

Solution:  
    -4.56 – (-3.25)

          = - 4.56 + 3.25
          = - 1.31



27. Find the difference between 127 and 156.

Solution:  
    127-156
= - 29

 OR

156 – 127
=29


28. Subtract 56 from 45.

Solution:  
     45-56
= - 11


29. At the beginning of the month, Maria’s bank account had a balance of $562.75. At the end of the month, the account was overdrawn by $123.15 (-$123.15). If there were no deposits during the month, what was the total amount of the checks Maria wrote?

Solution: 

          Initial bank balance = $562.75
          Bank balance @ month end = -$123.15

          Total amount of checks Maria wrote =$562.75 – (-$123.15)
                                                                     = $562.75 + $123.15
                                                                     = $685.90








30. Microsoft stock opened the day at 25.62 and closed the day at 24.82. Did the stock gain or lose for the day? Express the gain or loss as a signed number.


Solution:


           Closing price = 24.82
           Opening price =25.62

            Loss =24.82 – 25.62
                       = - 0.8
            The stock lost 0.8 i.e (-0.8)
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